

Apartment in Sliema



Sliema, Sliema and St Julians Surroundings



€1,410,000

Reference No: 240471014-1441

 Total Rooms: **6**

 Floor Area (m²) : **179**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Sliema

Available for sale is this fantastic 12th floor, north facing, apartment in one of the leading developments on the island. Offering a squarish layout this apartment measures 151 sqm internally and enjoys 28sqm of outside space. Present accommodation consists of a sizeable open plan kitchen/living/dining leading to a front terrace with picturesque seaviews overlooking Qui Si Sana seafront. Furthermore one finds three double bedrooms, main having ensuite facilities as well as a guest bathroom and laundry room. A one of a kind apartment in a one of a kind development.

Features

- ✓ Ceramic Floor
- ✓ Entrance Hall
- ✓ Pool
- ✓ Deck
- ✓ En Suite
- ✓ Double Glazed
- ✓ Terrace

Rooms

- ✓ Kitchen/Living/Dining : 9.6 x 6 m (57.6 m²)
- ✓ Double Bedroom : 3.5 x 5 m (17.5 m²)
- ✓ Double Bedroom : 3.5 x 3.2 m (11.2 m²)
- ✓ Bathroom : 3 x 2 m (6 m²)
- ✓ Shower Ensuite : 2.2 x 1.8 m (3.96 m²)
- ✓ Double Bedroom : 3.9 x 3 m (11.7 m²)

Gallery





Mark Micallef

RE/MAX Luxe - Sliema

M: 99423070

E: mmicallef@remax.com.mt

T: 27992796

RE/MAX Luxe - Sliema

58, Tigne Seafront, Sliema, Malta